Multiply the following. ‘@‘g
2X14x6x131=

Follow the example to solve and fill in the blank spaces below.
3x7x096= f. 5x17x79%x7=
5x4.5 x2 = g. 7 X 28.7/x90 x12 =
3x059x%x10x4 h.l 65x72.31x2 =
12 x 7. x 3.523 x 6 i 25 x2x10 =
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Multiply the following.

a. 2x14x6x131=

. Let’s first of all multiply the first 2 numbers

| 2x14 =28

| Secondly, we multiply 28 by 6 =168

| Finally, we multiply 168 by 1.31 = 22008

| But there are 2 decimal places

S0,2200,8=220.08

Follow the example above to solve and fill in the blank spaces below.

b.3x7x0.96 20.16
.|

- 5x45b5 x|2 45

d.

L P3Ix059x10x4 542.8
e.

12X 7 x3523x6]| 1,775.592

I A

5x17x79 x7

57 x 23.7x 90 x 12

65/x 72.31 x.2

2.5 x2x10
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4,700.5

1458972

9,400.3
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